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Q(x) = J(x=%)=(x=x)(x=x,)
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Anronlanditsuniugasazlddn P(x)=x, Q(x)=x*-1 uaz Q'(x)=2x
wananit Q(x)= 2—1:(x—1)(x+1) (x 1)(x—(-1)) Gt X =1 Xy =—1
az'lén x__ Pl P(XZ) !
x* -1 Q(&) X= M (&) X=X
P) 1 P(-}) 1
QM) x-1' Q1) x-(-1)
1 1 (- 1
— . + .
2(1) x-1 2(-1) x+1
211 11
2 x-1 2 x+1
G x .t 1
x2-1 2(x-1) 2(x+1)
a0 andpuliaglugtiasdiutan
X% —3x+1
(x=3)(x+1)x
35

fnronlanditsuiugasazlain P(x)=x*-3x+1 ﬁaqu(x) = x(x-3)(x+1)
uaz Q'(X)=(x—=3)(x+1)+x(x+1)+x(x—3) uaz x, =—1, X, =0,%3 =3



Wi 2 —
azldin
x*=3x+1 _P(x) 1 +P( ) 1 +P(x3) 1
(x=3)(x+1)x Q'(x) x=% Q'(X) X=X Q'(X5) X—Xg
I 1 1 1.1
4 x—(-1) (-3) x—(0) 12 x-3
__ 1 1
4(x+1) 3x 12(x-3)
Tagdi
P(%)=P(-1)=(-1)°-3(-1)+1=5
Q'(x)=Q'(-1)=0+0+(-1)((-1)-3)=4
P(x,)=P(0)=(0)"~3(0)+1=1
Q'(x)=Q'(0)=((0)-3)((0)+1)+0+0=-3
P(x)=P(3)=(3) -3(3)+1=1
Q'(x3)=Q'(3)=0+(3)((3)+1)+0=12
wpudndia sadsuliaglugtiasdiutan
1 4x -3 -5
C x?-3x-4 "3 _7x—6
3 53X — x° 2
" x®—7x%+14x-8 %3 —8x% +15x
1 7 13
A '5(X+1)+5(x—4)
2 5 1 1
"A4(x+1) 4(x-3) x+2
3 5 23 1
©2(x=2) 6(x—4)  3(x-1)
4 1 1 2
T3(x-3) "5(x-5) " 15x
Hayaadde

http://en.wikipedia.org/wiki/Partial_fraction
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